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QUESTION 1
A message is sent from the central Integration Engine to the Advanced Adapter Engine.
Which sequence of steps is typical for message processing in the Advanced Adapter Engine?

A. Receive message via HTTP Persist message Call multiple module processors Call pipeline Send message to back-
end system

B. Receive message via HTTP Persist message Call module processors Send message to back-end system
C. Receive message via RFC Persist message Call module processors Send message to back- end system
D. Receive message via JMS Persist message Call module processors Send message to back- end system

Correct Answer: B

QUESTION 2
You use an asynchronous-to-synchronous bridge in your integration process.

What happens to the quality of the service descriptor in the SOAP header when a message is processed through the
Integration Engine?

A. It changes from Exactly Once (EO) to Best Effort (BE).

B. It changes from Exactly Once (EO) to Exactly Once In Order (EOIO).
C. It changes from Best Effort (BE) to Exactly Once (EO).

D. It changes from Best Effort (BE) to Exactly Once In Order (EOIO).

Correct Answer: A

QUESTION 3

What do you define in a collaboration agreement?
A. The flow of messages in a system landscape

B. Security settings for a specific sender or receiver
C. The operation mapping

D. Conditions for receiver determination

Correct Answer: B

QUESTION 4
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You use SAP NetWeaver Process Integration on a dual-stack system. You want to configure asynchronous
communication between two systems using different service interfaces. A high message throughput is essential for your
business scenario.

Which of the following is the recommended way to achieve this?

A. Use the direct connection object.

B. Use XSLT mapping technology.

C. Use the integrated configuration object.

D. Use the integration process object.

Correct Answer: C

QUESTION 5

Why do you use a service registry in an SOA landscape?
A. To store security tokens centrally

B. To find the available Web services

C. To find the available system landscape specification
D. To define Web service interfaces

Correct Answer: B
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